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Revision (2) b )

Objective/s: Be able to

Multiply and divide whole numbers by 10 or 100 or 1000.

Order and compare negative numbers using number line or ¢
Calculate a rise or fall in temperature,

Add and subtract up to four digits numbers,

Multiply 2 digit numbers by one digit. And 2 digits by 2 digits.
Double and half 4digit numbers,

€mperature scale,

1) What will the temperature b

e if it is 8°C more than the temperature
shown below?

3

|-
-10-9 -8 -7 -6 |5|-4 -3 .2 .

2) The difference between the two numbers in the boxes is 10.
What number goes on the empty box?
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st.
st to COlde
3) Order the temperatures from warme

- ) o -1°C
a8°c/ 3¢/ o€/ ¢l 5C

- S 3 _ —.))'(’ _:_lluc,_.
3¢ Q¢ s5c¢ e —— —]

4) Use the number line below to help you solve the following:

|

'F oI s

N ——

T |
} 1 1 | b
Q12345856 F8 9

Use Risen/ Fell

+9a) The temperature was 9°C, the New temperature is -12°C

r—f———— e e

—\D_

© D)9 The temperature has Q—(;U by A5l ‘.

f\_bk\b,;qf‘ temperature was - 14°C, the new temperature is 4°C

ii) The temperature has Q,Se , by &% °C.

Math gives us hope that
every problem has a solution

/!

CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

L )
5) Find the following: neptgq.{-gj et 6 i
2)7he SUm of 4098 and 2187 ) The e ——
4 O] 48175 7 | b) The difference between 1097 and 3256
X2 ~3 3“\%%“-\09\\:4
S ' 3
Hloe + 2185 =69 39 3YSQ- 1100 = 2359
R @0 . :
C Hodg QR 3%

+ 21 % 3 - V093
6235 7 359
c)Theproductof98and7  |d)The product of 76 and 89 D
2 ’3*/@ 56t £ I
<+ G
67 6 + ©

6 O
6 7

.Xsﬁ‘wgi\

e) The product of 58 and 79
3q 77X
S z 2
o 6 O

iq

f) The product of 69 and 74
vl & q
"3y
(0 T
y | 2 7 e
y § 30
- & G

g1 *
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i
a) 2030 X] ®\$03q°°

e)  62100p =« =
PP+ 10 = [Z,mQ

4

ool

g) ["m — 360 =547

360+ 54

) S/DP??)F‘ -[40

/-ggog

2960

6) Co
Mplete to make the following statements t:l:\eu_&lor"'

b) 8900[3 :] ég

C) 690
ox = 6908000  d) 54000+ E -

f) 150ppp+1000= | | g

gaNallc
so |

m LQ:

Y 12960 +2045=;E§\m0 ) m
b{zzes] e Muo


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

N

r)

7) List: 30 E 6

m)  Double 459 s o)

n) Half 756
G"kc:o rSo +q 115 R 00 *;Q, B2
BOO+\00 +1\% ('D"‘;(’ ""1;(: 3
/ 0) L é % Is Half,of 132 P &¢ Y Is double 432
0 |
\C O+ 30 +5 HOQ +30 4.2
SO +1 13 4\ d G
800 + 60 +Y4

Vi @
78 s ) BF 218 4 zz@)ﬁﬁ
. . x\
5 4|0 318143
7 1 9 3 s 3l9 1 30 L4l 6
©
6[4]
1

X
2]

3

~ L
, .

w
[

B

a) 4 factors of 36 Cll"éf Jbuf'
1,56 2 /Y 312 4.9

7 /

b) Three multiples of 9 more than 20 and less than 89.

24 G W 54,63
? |
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8) Solve the following:

ts per day, an
During week days a doughnut shop sells 280 dough »Sndon

‘Wweekends they sell 336 doughnuts per day.

3
a) How many donuts were sold during the W

@Q g0
| L | ) )&'pé(/’ ~
- /4 © ? dc"tﬁ/mu‘x/ 51"/(/ ((’lt m}y ek /"

336
b) How many doughnuts were sold during tﬁgg_eglieﬂd.? I

Q Jble 336 is 67 2
» 3526 Y4 abu
i L
6 7 2 U/&keﬂdg

C/Ouj/’naiﬂ ‘foé/ Céjn‘?j

i 1400
¢) What is the total number of doughnuts sold on both week days

and weekends?  (in one week). ( Tranc lal g,g,f,slu to
)

672
| Hoo | e
f,%—cﬁwuz; Ul V- /cnér‘—/
20

= et
d) What is the diffe%;e between the doughnuts sold on week days
and on the weekends (in one week)? -

672
Fa
/4 9lo
A |
° 728 (ﬁcﬁ/wufs g

2 /"dpv.ém;(ﬁd-—-*/
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| 35 boxes?
24 %3 S

g\ | )(’\ QO\ A % Lé
\& X0 = 94 o \ 2o

e) Donut ' \‘
Sare sold in boxes; ><éh box has 24 pi
eces.

H :
OW many pieces are there in

Optional: ( not included in the exam)

1) In a traffic survey, Class B counts how many cars passed by during a
certain hour. They counted the following 6 red cars and 16 white
cars. There were fjilf as many blue cars as white. And, there were
three times more black cars than blue. N
How many black cars passed by?

R w  Rue o plxk

6 16 Tl 3T Ohe

W0e 3 X3
3 QY

2) Solve the following using mental strategies only:
b) 3216 - 1997=

a) 10_5’?_”9-?-%: T8 3
ngi’.;;poo 39/@000
/7/057 lalq
C) 45 X 14=h d),?._ssx ?,SS:_ ;ZOO
= |
C.{ L{O 7(50 =NCE .
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| & .

Steps for doubl

a

1) partition each number.
2)Double or half each digit
3)Add up the dig

ing: Example:
ing or halving ruble 540 Half 586
1)500+ 80+6 1)500+ 80+6
2) 1000+160+12 2)250+40+3
3)1172 3) 293
J

Halve

Number

Double

|
|

\80+AS Y <38 o rsprB A O HOONG
| 4 716

500+ 100+3 S+ 1274 s 2000 + Y00+140

437 Joco + 2007041 <C
| S
5137 e 0 .—ugp.g 18
S 0eo -+ 1030+ 4 'C.L‘C'f v 200 +E0YY) 6,000 +400 vi204]
10,27Y 2y S YA

J

a0 ‘HSO“"ST)K\(—\\\L\ 000 4300 4\

O

8624

9) Complete the following boxes with the halves and doubles of the
numbers given below.

28

hau ..a{ 30w =

V&

8

[ 220 ¢ \‘f\]ﬂ‘, g2

hc(iJ

A
L 256 g1 o heoerecooy
3300 7 1 '
2> “edeo s 300
e 8800

(( Hu;\ 6!’/&7) Z

22

~

1

/

How many people are left on th

[SO +100= QS0 pawple

300 - ASP

7 5o

P(Lr’l N

Q{_j_O_o people were on a plane when it took off from Dubai. Half of
Jo° he people got off at Paris an. .
got oft at Paris and 100 people got off at Rome.

- ‘L'_—N-A-—-———")

s + /00 30}
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